SIEMENS BAT 62-07W
Silicon Schottky Diode
o 3
 Low barrier diode for detectors up to GHz
frequencies
2
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EHAQ7008
ESD: Electrostatic discharge sensitive device, observe handling precaution
Type Marking | Ordering Code Pin Configuration Package
BAT 62-07W | 62s Q62702-A1198 1=C1 |2=C2 |3=A2 [4=Al1 |SOT-343
Maximum Ratings
Parameter Symbol Value Unit
Diode reverse voltage VR 40 \
Forward current I 20 mA
Total power dissipation, Tg= 103 °C Prot 100 mw
Junction temperature T, 150 °C
Storage temperature Tstg -55...+150
Thermal Resistance
Junction - ambient 1) Rinia < 630 K/W
Junction - soldering point Rinis <470
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SIEMENS BAT 62-07W
Electrical Characteristics at Ty = 25°C, unless otherwise specified.

Parameter Symbol Values Unit

min. | typ. | max.

DC characteristics

Reverse current Ir - - 10 |[pA
Vr=40V

Forward voltage %= - 0.58 1 |V
le=2mA

AC characteristics

Diode capacitance Cr - 035 | 0.6 |pF
VR=0V, f=1MHz

Case capacitance Cc - 0.1 -

f=1MHz

Differential resistance Ro - 225 - kQ

VR =0, f=10 kHz

Series inductance chip to ground L - 2 - nH
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SIEMENS BAT 62-07W

Forward current g = f(Ta* Tg) Forward current /g = f(Vg)
* mounted on alumina Tp = parameter
25 104
UuA
mA \\ =
Ts <
Ta \ 109 < TA= 25°C
TR N\ u Ta=85°C
\ \ Iﬂ Ta=125°C
Ta=-40°C
\k 1]
T 10 \ T I
\ 102
HH
TN
i
5 \ ’
0 101 I
0 20 40 60 80 100 120 °C 150 00 02 04 06 08 10 12 14 16V 19
——» TaTs —= W
Permissible Pulse Load Permissiple pulse load lepay/lepc = f(tp)
Irmax/ Irpc = f(tp)
103 10!
P
pa Q
KW // E_
Bl ~ D =0
2 ’ g NN\ 0.005
& / £ PDXN-HETE o0
|l M
10 2T - N :
/ 05 TN == 0.1
1/ 0.2 ™ 0.2
) T 0.1 3\ 0.5
/ —
AT 0,05 ail L]
/ I HH 0.02 \
74’ /f:f = 0.01 T T
A - 0.005
Zan MFEFAED = 0 ~~
10 ! 7 6 5 4 3 2 0 10 ° 7 6 5 4 3 2# 0
10° 10° 10° 10° 10~ 10° S 10 107 10~ 10° 10° 10~ 10° S 10
— > b —= b

Semiconductor Group 3 1998-11-01



SIEMENS

BAT 62-07/W

Diode capacitance Ct =f(VR)
f=1MHz
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Rectifier voltage Vgt = f(Vin)
f=900 MHz
R, = parameter in kQ
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Reverse current Ig = f(VR)
Tp = Parameter
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